Temp Series : [ 4. 9. 13. 15. 8.], erreur Mk 0 = 315.85149903 _Temp Series: [ 4. 9. 13. 15. 3.], erreur Mk 1 = 339.574578172
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Temp Series : [ 4. 9. 13. 15. 17.], erreur Mk 2 = 342.226126279 Temp Series : [ 4. 9. 13. 15. 10.], erreur Mk 3 = 345.449960205
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ir(e)rgp Series: [ 4. 9. 13. 15. 14.], erreur Mk 4 = 349.388643744_  Temp Series : [ 4. 9. 13. 15. 11.], erreur Mk 5 = 353.405462
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Tenoﬁp Series: [ 4. 9. 13. 15. 7.], erreur Mk 6 = 359.878142191 Temp Series : [ 4. 9. 13. 15. 19.], erreur Mk 7 = 383.527782263
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Ter6p Series: [ 4. 9. 13. 15. 1.], erreur Mk 8 = 387.19189272111'6rap Series: [ 4. 9. 13. 15. 12.], erreur Mk 9 = 389.352317167
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